
Au
gu

st



August 2024

RODRUNNER REF NO: TC-CH-1278 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 1.766

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T1XX 2019- Front Right
Upper

84437972

Length: 243 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-CH-BS156
Control Arm

Bushing
Front Upper 84437972*, 84437973*

RODRUNNER REF NO: TC-CH-1278 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 1.766

SIERRA 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Right
Upper

84437972

Length: 243 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-CH-BS156
Control Arm

Bushing
Front Upper 84437972*, 84437973*

www.rodrunnerparts.com 1



August 2024

RODRUNNER REF NO: TC-CH-1279 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 1.766

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T1XX 2019- Front Left
Upper

84437973

Length: 243 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-CH-BS156
Control Arm

Bushing
Front Upper 84437972*, 84437973*

RODRUNNER REF NO: TC-CH-1279 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 1.766

SIERRA 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Left
Upper

84437973

Length: 243 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-CH-BS156
Control Arm

Bushing
Front Upper 84437972*, 84437973*

www.rodrunnerparts.com 2



August 2024

RODRUNNER REF NO: BC-CH-BS156 ADAPTABLE CHEVROLET

Control Arm Bushing

Weight: 252

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T1XX 2019- Front Upper 84437972*, 84437973*

Length: 55,9

TC-CH-1278
Control Arm

and Ball Joint
Front Right

Upper
84437972

TC-CH-1279
Control Arm

and Ball Joint
Front Left

Upper
84437973

RODRUNNER REF NO: BC-CH-BS156 ADAPTABLE GMC

Control Arm Bushing

Weight: 252

SIERRA 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Upper 84437972*, 84437973*

Length: 55,9

TC-CH-1278
Control Arm

and Ball Joint
Front Right

Upper
84437972

TC-CH-1279
Control Arm

and Ball Joint
Front Left

Upper
84437973

www.rodrunnerparts.com 3



August 2024

RODRUNNER REF NO: TC-CH-1338 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 8.324

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T1XX 2019- Front Right
Lower

84973285

Length: 310 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-994

RODRUNNER REF NO: TC-CH-1338 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 8.324

SIERRA 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Right
Lower

84973285

Length: 310 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-994

www.rodrunnerparts.com 4

Ball Joint

Front Lower

84973287* 84973286* 84973285*	84973288* 84973287 84973286


84973287* 84973286* 84973285*	84973288* 84973287 84973286


Front Lower

Ball Joint



August 2024

RODRUNNER REF NO: TC-CH-1339 ADAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 8.324

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T1XX 2019- Front Left
Lower

84973288

Length: 310 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-994

RODRUNNER REF NO: TC-CH-1339 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 8.324

SIERRA 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2020- Front Left
Lower

84973288

Length: 310 Bolt Metric: M16X2

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-CH-994

www.rodrunnerparts.com 5

Ball Joint

Front Lower

84973287* 84973286* 84973285*	84973288* 84973287 84973286

84973287* 84973286* 84973285*	84973288* 84973287 84973286

Front Lower

Ball Joint



August 2024

RODRUNNER REF NO: LS-CI-686 ADAPTABLE CITROEN

Stabilizer Bar Link

Weight: 312

C-ZERO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2010-2020 Front Right 5087.81*

Length: 240 Bolt Metric: M10X1,25

RODRUNNER REF NO: LS-CI-687 ADAPTABLE CITROEN

Stabilizer Bar Link

Weight: 312

C-ZERO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2010-2020 Front Left 5087.80*

Length: 240 Bolt Metric: M10X1,25

www.rodrunnerparts.com 6



August 2024

RODRUNNER REF NO: TC-CR-568 ADAPTABLE CHRYSLER

Lateral Arm

Weight: 1.080

300

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2011-2023 Rear Lower
Forward

CMS251016, 4782836AA,
4782836AB, 5180480AA

Length: 368,5 Housing Metric: M14X1,5

RODRUNNER REF NO: TC-CR-568 ADAPTABLE DODGE

Lateral Arm

Weight: 1.080

CHALLENGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2008- Rear Lower
Forward

CMS251016, 4782836AA,
4782836AB, 5180480AA

Length: 368,5 Housing Metric: M14X1,5

www.rodrunnerparts.com 7



August 2024

RODRUNNER REF NO: TC-CR-568 ADAPTABLE DODGE

Lateral Arm

Weight: 1.080

CHARGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 2011- Rear Lower
Forward

CMS251016, 4782836AA,
4782836AB, 5180480AA

Length: 368,5 Housing Metric: M14X1,5

RODRUNNER REF NO: TC-CR-568 ADAPTABLE DODGE

Lateral Arm

Weight: 1.080

MAGNUM

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2004-2009 Rear Lower
Forward

CMS251016, 4782836AA,
4782836AB, 5180480AA

Length: 368,5 Housing Metric: M14X1,5

www.rodrunnerparts.com 8



August 2024

RODRUNNER REF NO: TR-DS-111 ADAPTABLE DS

Tie Rod End

Weight: 838

4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Right 1675958280

Length: 210 Bolt Metric: M12X1,5 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-DS-112 ADAPTABLE DS

Tie Rod End

Weight: 838

4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Left 1675958380

Length: 210 Bolt Metric: M12X1,5

www.rodrunnerparts.com 9



August 2024

RODRUNNER REF NO: TC-FO-108 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 4.224

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U625 2020- Front Right
Lower

LB5Z3082A

Length: 441 Bolt Metric: M14X1,5

RODRUNNER REF NO: TC-FO-109 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 4.224

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U625 2020- Front Left
Lower

LB5Z3083A

Length: 441 Bolt Metric: M14X1,5

www.rodrunnerparts.com 10



August 2024

RODRUNNER REF NO: LS-GZ-106 ADAPTABLE GAZ

Stabilizer Bar Link

Weight: 312

GAZELLE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2013- Front 3221362906058

Length: 151 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-H-151 ADAPTABLE HONDA

Tie Rod End

Weight: 644

CR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RW1-
RW8/RT5-

2017-2022 Front Right 53540TMBH01

Length: 181 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

Only Year 2021-2022 e-
HEV / 2013-2020 Hybrid

YEAR ONLY
2021-2022

www.rodrunnerparts.com 11



August 2024

RODRUNNER REF NO: TR-H-152 ADAPTABLE HONDA

Tie Rod End

Weight: 644

CR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RW1-
RW8/RT5-

2017-2022 Front Left 53560TMBH01

Length: 181 Bolt Metric: M12X1,25 Housing Metric: M18X1,5

Only Year 2021-2022 e-
HEV / 2013-2020 Hybrid

YEAR ONLY
2021-2022

RODRUNNER REF NO: AJ-KI-713 ADAPTABLE KIA

Tie Rod

Weight: 522

BORREGO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

HM 2008-2018 Front Right MS90721, 577312J000

Length: 173 Bolt Metric: M16X1,5 Housing Metric: M18X1,5

www.rodrunnerparts.com 12



August 2024

RODRUNNER REF NO: AJ-KI-723 ADAPTABLE KIA

Tie Rod

Weight: 522

BORREGO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

HM 2008-2018 Front Left MS90720, 577322J000

Length: 173 Bolt Metric: M16X1,5

RODRUNNER REF NO: TC-M-1388 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 2.280

S-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W223 2020- Front Right
Lower

2233303603, A2233303603

Length: 379,7 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS291
Control Arm

Bushing
Front Lower

Rearward Inner
2063305102*, 2063305202*

4X2

www.rodrunnerparts.com 13



August 2024

RODRUNNER REF NO: TC-M-1389 ADAPTABLE MERCEDES

Control Arm and Ball Joint

Weight: 2.280

S-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W223 2020- Front Left
Lower

2233303503, A2233303503

Length: 379,7 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-ME-BS291
Control Arm

Bushing
Front Lower

Rearward Inner
2063305102*, 2063305202*

4X2

RODRUNNER REF NO: BC-ME-BS333 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 654

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019- Front Lower
Inner

A1673300800*, 1673300800*,
A1673300700*, 1673300700*

Length: 79

TC-M-1238 Control Arm
Front Right

Lower
A1673300800, 1673300800

TC-M-1239 Control Arm
Front Left

Lower
A1673300700, 1673300700

www.rodrunnerparts.com 14



August 2024

RODRUNNER REF NO: BC-ME-BS333 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 654

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Front Lower
Inner

A1673300800*, 1673300800*,
A1673300700*, 1673300700*

Length: 79

TC-M-1238 Control Arm
Front Right

Lower
A1673300800, 1673300800

TC-M-1239 Control Arm
Front Left

Lower
A1673300700, 1673300700

RODRUNNER REF NO: BC-ME-BS335 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 518

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019- Front Lower
Center

A1673300800*, 1673300800*,
A1673300700*, 1673300700*

Length: 80

TC-M-1238 Control Arm
Front Right

Lower
A1673300800, 1673300800

TC-M-1239 Control Arm
Front Left

Lower
A1673300700, 1673300700

www.rodrunnerparts.com 15



August 2024

RODRUNNER REF NO: BC-ME-BS335 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 518

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Front Lower
Center

A1673300800*, 1673300800*,
A1673300700*, 1673300700*

Length: 80

TC-M-1238 Control Arm
Front Right

Lower
A1673300800, 1673300800

TC-M-1239 Control Arm
Front Left

Lower
A1673300700, 1673300700

RODRUNNER REF NO: TC-T-168 ADAPTABLE TOYOTA

Control Arm and Ball Joint

Weight: 3.516

YARIS CROSS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XP210 2020- Front Right 48068K0020

Length: 401,5 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-T-1034K

BC-TO-BS315
Control Arm

Bushing
Front 48068K0020*, 48069K0020*

BC-SB 1274

www.rodrunnerparts.com 16

Ball Joint
     Kit

Front Lower

4333009A50

Control Arm 
    Bushing

Front Outer

48068F4010*	48069F4010*	48068K0020*	48069K0020*




August 2024

RODRUNNER REF NO: TC-T-168S ADAPTABLE TOYOTA

Control Arm

Weight: 2.762

YARIS CROSS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XP210 2020- Front Right 48068K0020

Length: 333

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-TO-BS315
Control Arm

Bushing
Front 48068K0020*, 48069K0020*

BC-SB 1274

RODRUNNER REF NO: TC-T-169 ADAPTABLE TOYOTA

Control Arm and Ball Joint

Weight: 3.516

YARIS CROSS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XP210 2020- Front Left 48069K0020

Length: 401,5 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-T-1034K

BC-TO-BS315
Control Arm

Bushing
Front 48068K0020*, 48069K0020*

BC-SB 1274

www.rodrunnerparts.com 17

Control Arm 
    Bushing

Front Outer

48068F4010*	48069F4010*	48068K0020*	48069K0020*


Ball Joint
     Kit

Front Lower

4333009A50

Control Arm 
    Bushing

Front Outer

48068F4010*	48069F4010*	48068K0020*	48069K0020*




August 2024

RODRUNNER REF NO: TC-T-169S ADAPTABLE TOYOTA

Control Arm

Weight: 2.762

YARIS CROSS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XP210 2020- Front Left 48069K0020

Length: 333

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-TO-BS315
Control Arm

Bushing
Front 48068K0020*, 48069K0020*

BC-SB 1274

www.rodrunnerparts.com 18

Control Arm 
    Bushing

Front Outer

48068F4010*	48069F4010*	48068K0020*	48069K0020*




August 2024

RODRUNNER REF NO: BC-TO-BS315 ADAPTABLE TOYOTA

Control Arm Bushing

Weight: 194

YARIS CROSS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XP210 2020- Front 48068K0020*, 48069K0020*

Length: 65 Housing Metric: M14X1,5

TC-T-168
Control Arm

and Ball Joint
Front Right 48068K0020

TC-T-168S Control Arm Front Right 48068K0020

TC-T-169
Control Arm

and Ball Joint
Front Left 48069K0020

TC-T-169S Control Arm Front Left 48069K0020

www.rodrunnerparts.com 19



August 2024

RODRUNNER REF NO: TR-V-941 ADAPTABLE VOLKSWAGEN

Tie Rod End

Weight: 792

AMAROK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NF 2023- Front Right 2HJ422811

Length: 202 Bolt Metric: M10X1,5 Housing Metric: M14X1,5

> 13.02.2023

RODRUNNER REF NO: TR-V-942 ADAPTABLE VOLKSWAGEN

Tie Rod End

Weight: 7.921

AMAROK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NF 2023- Front Left 2HJ422812

Length: 202 Bolt Metric: M10X1,5

> 13.02.2023

www.rodrunnerparts.com 20



August 2024

RODRUNNER REF NO: LS-V-996 ADAPTABLE VOLKSWAGEN

Stabilizer Bar Link

Weight: 624

AMAROK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NF 2023- Front 2HJ411316A

Length: 296 Bolt Metric: M14X1,5

> 12.02.2023

www.rodrunnerparts.com 21




